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QUESTION 1

Which three statements about VLAN implementation in a Layer 2 switch environment are true? (Choose three.) 

A. The Cisco IOS switchport access vlan interface configuration command is used to configure the native VLAN on the
switch port. 

B. 802.1AD supports VLAN overlap. 

C. VLANs can span across multiple switches. 

D. 802.1Q encapsulation is used to identify different VLANs on a trunk port. 

E. Inter-VLAN routing is performed between VLAN tunnel ports. 

Correct Answer: BCD 

IEEE 802.1ad[note 1] is an Ethernet networking standard informally known as IEEE 802.1QinQ and is an amendment to
IEEE standard IEEE 802.1Q-1998. The technique is also known as provider bridging, Stacked VLANs or simply QinQ or
Q-in-Q. 

The original 802.1Q specification allows a single VLAN header to be inserted into an Ethernet frame. QinQ allows
multiple VLAN headers to be inserted into a single frame, an essential capability for implementing Metro Ethernet
network topologies. Just as QinQ extends 802.1Q, QinQ itself is extended by other Metro Ethernet protocols.[specify] In
a multiple VLAN header context, out of convenience the term "VLAN tag" or just "tag" for short is often used in place of
"802.1Q VLAN header". QinQ allows multiple VLAN tags in an Ethernet frame; together these tags constitute a tag
stack. When used in the context of an Ethernet frame, a QinQ frame is a frame that has 2 VLAN 802.1Q headers
(double-tagged). 

There is a mild confusion regarding the naming because the 802.1ad standard was grown out of the 802.1QinQ protocol
(which was developed based the trademarked method 802.1Q, with capital "Q" as a distinction instead of the 802.1q as
the standardised protocol) which originally used 0x9100 as ethernet type instead of 0x88a8. While the network industry
usually mix the naming the proper, standardised name is 802.1ad which sometimes gets appended by the other
alternative names mentioned above; the plain "802.1QinQ" name usually refers to the old standard which is now
considered obsolete 

 

QUESTION 2
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Hot Area: 

Hot Area: 

Correct Answer: 

 

 

QUESTION 3

Refer to the exhibit. 
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A network engineer implemented these configurations. However, Intermediate System-to- Intermediate System (IS-IS)
neighbors are unable to establish. What is the reason for this error? 

A. missing router IS-IS x command 

B. missing IP router IS-IS command 

C. missing network mask 

D. missing network statement 

E. missing MTU matching value 

Correct Answer: B 

 

QUESTION 4

Refer to the exhibit. 

The access list has been configured on the Gi0/0/0/0 interface in the inbound direction. Which four packets that are
sourced from 10.1.1.1 TCP port 1060, if they are routed to the Gi0/0/0/0 interface, will be permitted? (Choose four) 

A. destination IP address: 192.168.15.37, destination TCP port: 8080 

B. destination IP address: 192.168.15.41, destination TCP port: 8080 

C. destination IP address: 192.168.15.49, destination TCP port: 8080 

Latest 640-878 Dumps | 640-878 VCE Dumps | 640-878 Exam Questions                              5 / 12

https://www.passapply.com/640-878.html
https://www.passapply.com/640-878.html
https://www.passapply.com/640-878.html


https://www.passapply.com/640-878.html
2021 Latest passapply 640-878 PDF and VCE dumps Download

D. destination IP address: 192.168.15.36, destination TCP port: 80 

E. destination IP address: 192.168.15.46, destination TCP port: 80 

F. destination IP address: 192.168.15.49, destination TCP port: 80 

Correct Answer: CDEF 

 

QUESTION 5

Select and Place: 

Correct Answer: 
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QUESTION 6

Refer to the topology diagram in the exhibit. 
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Which two interface configuration commands on the Cisco ME 3400-1 switch Fa 0/1 interface are required to support
the VLANs for Customer A to be trunked across the service provider network? (Choose two.) 

A. switchport access vlan 30 

B. switchport mode trunk 

C. switchport mode dot1q-tunnel 

D. switchport trunk allowed vlan 1-100 

Correct Answer: AC 

http://www.cisco.com/en/US/docs/switches/metro/me3400/software/release/12.2_25_ex/configur ation/
guide/swtunnel.html 

 

QUESTION 7

On Cisco routers, the address-family configuration command in BGP configuration mode is used to enable which BGP
feature? 

A. BGP route policy 

B. multiprotocol BGP 

C. BGP policy accounting 
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D. BGP communities 

Correct Answer: B 

 

QUESTION 8

Refer to the exhibit. 

What additional configuration is required to enable inter-VLAN routing for VLANs 10 and 20 on the Cisco ME 3400
switch using the Metro IP Access image? 

A. interface Fa0/1 ip address 192.168.10.1 255.255.255.0 ! interface Fa0/2 ip address 192.168.20.1 255.255.255.0 ! 

B. interface Fa0/1 ip address 192.168.10.1 255.255.255.0 ! interface Fa0/2 ip address 192.168.20.1 255.255.255.0 !
router eigrp 1 network 192.168.10.0 network 192.168.20.0 ! 

C. interface vlan 10 ip address 192.168.10.1 255.255.255.0 ! interface vlan 20 ip address 192.168.20.1 255.255.255.0 ! 

D. interface Fa0/1 encapsulation dot1q 10 ip address 192.168.10.1 255.255.255.0 ! interface Fa0/2 encapsulation dot1q
20 ip address 192.168.20.1 255.255.255.0 ! 

Correct Answer: C 

 

QUESTION 9

What package provides the software for the route processor in the IOS XE Software? 

A. RPIOS 

B. ESPBase 

C. RPControl 

D. RPBase 

E. SIP SPA 

Correct Answer: D 
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QUESTION 10

Which two statements about the BGP weight attribute on Cisco routers are true? (Choose two.) 

A. It is a well-known discretionary attribute. 

B. It is only locally significant. 

C. Routes with higher weight are the preferred routes. 

D. It is used to influence the inbound traffic from the upstream AS. 

E. It is set to 100 by default. 

Correct Answer: BC 

 

QUESTION 11

You have installed a new router and configured OSPF on it. However, this new router is not able to establish an OSPF
neighbor relationship with the neighbor OSPF router. Which four conditions could cause this problem? (Choose four.) 

A. mismatched OSPF hello/dead interval between the new router and the neighbor router 

B. mismatched OSPF area ID between the new router and the neighbor router 

C. mismatched OSPF authentication data between the new router and the neighbor router 

D. mismatched OSPF router ID between the new router and the neighbor router 

E. mismatched interface MTU between the new router and the neighbor router 

F. mismatched interface bandwidth between the new router and the neighbor router 

Correct Answer: ABCE 

 

QUESTION 12

On Cisco IOS XR software, what is the default commit option? 

A. best-effort 

B. psuedo-atomic 

C. replace 

D. force 

Correct Answer: B 
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